20184F04H15H (H) 1/ 2

>
=F

BT —A1 Bk Tk N T 1)
SR 2 a7 (98.3)
1= S ERR T e= SRR a=

Bz K 4 0 1 G | HC | NET =¥ va K 4 0 1 G HC NET =¥ va K 4 0|1 G | HC = NET Bz K 4 0 I G | HC = NET
1 v+ 44 44 88/10.0| 78.0 36 BEREA 45 46 91 2.0 89.0 715 54| 55 109/13.0] 96.0
2 fhHETS 41 44 85 5.0/ 80.0 37| -y ke I 48 46 94 5.0 89.0 72 RS 52| 49 101 4.0] 97.0
3 APRaEH] 44 45 89 9.0/ 80.0 38| I IEAL 48 49 97 8.0 89.0 73 VAR 54| 48 102 5.0| 97.0
4 IAARFE L 45 44 89 8.0| 81.0 39 A% 51 48 99 10.0 89.0 74 LB R 50 55 105/ 8.0 97.0
5 AR 42 48 90 9.0| 81.0 40 H) 11 HER 45 47 92 2.0 90.0 75 TEATE 49| 57 106 9.0| 97.0
6 AR 49 46 95/13.0 82.0 41 \E)IZEs 46 49 95 5.0 90.0 76 fE LS E 45 59 104 6.0| 98.0
THHEBR 42 46 88 4.0| 84.0 42 HiTR 48 48 96 6.0 90.0 7 M E M 49 57 106 8.0| 98.0
8 BAFEE 50 43 931 9.0 84.0 43| iz 46| 52 98 8.0 90.0 78 JREFF 2 49| 57 106 8.0 98.0
9 M HEZ 44 51 95 11.0| 84.0 44| S — 51 47 98 8.0 90.0 79 B 5 58 53 111/13.0] 98.0
10 BRIk 48 43 91 6.0| 85.0 45 PEEHER 46 53 99 9.0 90.0 80 JLiHEZ 50 58 108 9.0 99.0
11 Kz 46 46 92| 7.0 85.0 46| B HAS— 51 48 99 9.0 90.0 81 i & 2% 58| 57 115 10.0/105. 0
12 FEFHE 44 50 94 9.0| 85.0 47| BFIPERE 52 51 103 13.0 90.0 82 [ifi] FH 7 54 64 118/10.0(108.0
13 A H 50 44 94 9.0| 85.0 48| FH IR 46 49 95 4.0 91.0
14 FJR5% 46 48 94 9.0| 85.0 49| AT S84 47 50 97 6.0 91.0
15 {2 HIRIE 43 51 94, 9.0/ 85.0 50 {F I A 54| 47 101 10.0 91.0
16 FE 0 2 6f 45 44 89| 3.0 86.0 51| H 33T 52 49 101 10.0 91.0
17 fEAF0 41 48 89| 3.0 86.0 52| RF— 50 52 102 11.0 91.0
18 Hif#Z 46 47 93| 7.0 86.0 53| L) H-— 49 47 96 4.0 92.0
19 i )5 46 48 94 8.0| 86.0 54| HPIFRA 52 48 100 8.0 92.0
20 fRHEAE 43 51 94 8.0| 86.0 55| EMFBIT 52 48 100 8.0 92.0
21 FH—1R 4749 96/10.0| 86.0 56 78 FIEE 50 51 101 9.0 92.0
22 [ = 46 51 97 11.0| 86.0 57| 1) HAEAHR 51 50 101 9.0 92.0
23 FFREZ 49 49 9812.0| 86.0 58 Vh /A TR 56 45 101 9.0 92.0
24 5EILH KR 46 48 94| 7.0 87.0 59 H Hibk 52 53 105 13.0 92.0
25 HEE S 51 46 97/10.0| 87.0 60| AT = 49 54 103 10.0 93.0
26 43l 46 51 9710.0| 87.0 61| 75 )1 &3t 47 56 103 10.0 93.0
27 FHEATE 49 49 98 /11.0| 87.0 62| T 49| 54 103 10.0 93.0
28 ITAEH— 51 48 9912.0| 87.0 63| EAEEH 51 53 104 11.0 93.0
29 AP 48 46 94 6.0| 88.0 64) EFEh, 50 49 99 5.0 94.0
30 MR EAA 49 47 96| 8.0 88.0 65 K HIFI=E 50 56 106 12.0 94.0
31 KR 46 50 96| 8.0 88.0 66| IAARE 47 49 96 1.0 95.0
32 HATAH 49 49 98/10.0| 88.0 67 1A E— 49 55 104 9.0 95.0
33 AR 51 48 99 11.0| 88.0 68 AT B At 50 46 96 0.0 96.0
34 M ER 46 54 100/12. 0] 88.0 69 HEARRIAT 50 47 97 1.0 96.0
35 /NIFEA 53 48 101 13.0| 88.0 70| PH[EE Z 52 56 108 12.0 96.0




20184F04H15H (H) 2/ 2

>
<F

BT —A1 B 5 (N T 1)
Sy A 27 (98, 3)
1= S ERR T e= SRR a=

W % 4 o0 ¢ Hc NET MR 4 0 1 ¢ HC NET | N K & 0 1 ¢ Hc NeT WA K 4 0 1 G HC | T




